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‘It was not a good day’ is an example of: Cc
a) Tautology b) Pleonasm c) Litotes d) Interjection Litotes
Fill in the blanks from the following option:
“The discontent among the people is the outcome of the d
policies carried by the people at the helm. The further probe shows
____manner which will not be tolerated by people.”
a) Elephantine, . c) Adopt, | d)  Palpable, Palpable,
Deft, Uncouth, té})erfeiﬁ?sé?le’ Maladroit, Amorphous, Amorphous,
operose ’ Cack-handed, | Ham-fisted, Ham-fisted,
Ingenous, Cologne Ingenious Ingenious
Easeful & & &

Which of the following sentence is not meaningful in true sense?
A T have never seen such as operose person like him.
B His steady approach has made him a successful person. b
CDue to otiose nature he has got good percentile in the CAT exam.
D He has nose for unearthing talent.
a) B only b) C only c) Both A&C | d) Both B&D C only
Match the following words in terms of similarity:

A Assiduous 1 Tangible

B Operose i1 Easeful a

C Otiose iii Industrious

D Palpable v Sedulous
a) A-iv, B-iii, | b) A-ii, B-iii, | ¢) A-iv, B-ii, | d) A-iii, B-1, C- | A-iv, B-iii, C-ii,
C-ii, D-i C-iv, D-i C-iii, D-1 iv, D-ii D-i
‘Why and Wherefore’ means: b
a) The basic | b) The basic | ¢) The basic | d) The basic The basic
thought reason logic idea reason
What is the name of the weak zone of the earth’s crust? Answer option

(a)

a) Seismic b) Formic ¢) Cosmic d) Anaemic Seismic

In 2019, Which popular singer wa

s awarded the Bharat Ratna award

Answer option

(b)
a) Lata b)Bhupen c)Asha Bhosle | d)Manna Dey Bhupen
Mangeshkar Hazarika Hazarika

Which of the following statements are not false?

A. Octopus has six arms and two legs
B. Herbivores are animal eaters
C. Crocodile have four chambered hearts
D. Study of blood is known as cardiology

Answer option

(b)




of their age is 2:3:4. The difference between the age of Naka and

Jumgam is

a B&D b) A & C only ¢)B,C,&D d) all of the A & C only
only above
9 Who is known as the father of Indian missile technology? Answer option
(d)
a) Dr Homi b) Dr R c) Dr d) Dr A.PJ.
Bhabha Kasturirangan | Chandrasekhar | Abdul Kalam Dr A.P.J.
Abdul Kalam
Venkatraman
10 | Type Questions here for matching pairs:
A. M K Gandhi i1 Apple Cart Answer option
B. Leo Tolstoy i1 The Republic (b)
C. Plato 111 My Experiment with Truth
D. G B Shaw iv War and Peace
a) A-iii, B-iv, | b) A-iii, B-iv, | ¢) A-iii, B-1, C- | d) A-iii, B-1, C- | A-iii, B-iv, C-ii,
C-1, D-ii C-ii, D-1 i1, D-iv v, D-ii D-i
11 | Which is an Online app for citizens to report on the Model Code of Answer obtion
Conduct violations during the Election Period. (b) p
a) cGUARD b) cVIGIL c) cPRAHARI i)pp Saksham VIGIL
12 | The Indian Super League (ISL) 2023-24 was won by: Answer option
(b)
a) Odisha b) Mumbai | c)Mohun d) FC Goa Mumbai City
FC City FC Bagan FC FC
13 | Who of the following personality from Czech Republic has won the Answer option
Miss World 2024 title at a grand event in Mumbai. (b) p
a)Yasmina c) Karolina | d)Vanessa
Zaytoun b)Krystyna Bielawska Ponce Krystyna
Pyszkova Pyszkova
14 | Australian Women's Open 2024 was won by: Answer option
(©)
a)Caroline b) Jessica c)ArynaSabale | d) Serena
. s Aryna
Wozniacki Pegula nka Williams
Sabalenka
15 | Match List —I with List-II:
List-1 List-1I
A. Cricket i Parthib Gogoi Answer option
B. Football i1 Riyan Parag (©)
C. Javelin iii Rameshbabu Praggnanandhaa
D. Chess v Kishore Jena
a) A-ii, B-1, C- | b) A-ii, B-iv, | ¢)A-ii, B-i, C- | d) A-i, B-iii, C- | A-ii, B-i, C-iv,
iii, D-iv C-i, D-iii iv, D-iii v, D-ii D-iii
16 | The average age of Binjum, Jumgam and Naka is 27 years and ratio

Answer option

(d)

a)l2 years

b) 8 years

c) 10 years

d) 9 years

9 years




17 | A cyclist moves 4 kms towards North and turns to his right. After Answer obtion
moving 6 kms, turns half-right and then moves 5 kms. How far is he (b) P
from his starting point?

a)ll km b) 9 km c) 8 km d)15 km 9 km
18 | Which of the following word appears first in the dictionary? Answer option
(a)
a) Transfusion | b)Transmissio | c¢)Transportati | d)Translation .
n on Transfusion

19 |In a line of 37 persons, A and B stand at 10™ and 16" ranks | Answer option
respectively from the to. What are their ranks from the bottom? (a)
a)28" 22 [b)26™, 11" |27 210 [ d)27™, 9" 28th, 22nd

20 | Choose the correct alternative from the given ones which will
complete the letter series? Answer option

(c)
PAZ, PBY, PCX, PDW,.....?
a)PBY b)PFU c)PEV d)PFV PEV
21 | The Indus Valley Civilization belongs to which age? a)
a) Bronze Age | b)Neolithic c) Paleolithic | d)  Primitive a) Bronze Age
Age Age Age
22 | The title ‘Vikramaditya’ was assumed by : d)
a) Harsha c) d) d)
Vardha | b) Chandragupta- | Chandragupta- | Chandragupta
Samudragupta I I -1
n

23 | ‘The Mansabdari’ System introduced by Akbar. b) Mongolia
He adapted this system from which country? &

a) Persia | b) Mongolia \ c¢) Afghanistan \ d) Turkey b) Mongolia

24 | Match Buddha’s life events with the places associated with

A Birth Place iKusinagar

B Death Place i1 Sarnath C)

C First Sermon 111 Bodh-Gaya

D Attainment of supreme |iv Lumbini

Knowledge

a) A-i, B- b) A-iv, c)A-iv, B-i, C- | d) A-iv, B-iii,
. B.; il &D- iii C-ii &D-i ¢) A-iv, B-i, C-
“’ “b ii &D- i
C-iii &D-iv | C-iii & D-1ii

25 | Who ruled over Taxila, when Alexander invaded India d)

a) Ashok | b)Porus | c)Bimbisar | d)Ambhi d) Ambhi

26 | Which statements are True to Vasco-da-Gama:

A Vasco-da-Gama was a Portuguese. b)
B Vasco-da-Gama reached Calicut in 1498.
C Vasco-da-Gama reached Cochin in 1498.
D Vasco-da-Gama was a French.
a A&C c) C&Donly |d)B & D only
only b) A & B only b) A & B only




27 | The island of Bombay was given to the British Prince Charles-II as | ¢)
dowry by whom?
a) The Dutch | b) The Danish | c) The | d) The French | c) The
Portuguese Portuguese
28 | Match the pairs with their links: b)
A Sama Veda 1 Kali Age
B Atharva Veda i1 Philosophical Treatises
C Puranas iii Musically rendered
D Upanishads iv Magic and spells
a) A- iii, B-i, | b) A- iii, B-iv, | ¢)A-iv, B-i,C- | d) A- iv, B-i, | b) A- iii, B-iv,
C-ii &D- iv C-1 &D-ii il &D- iii C-iii &D- ii C-i&D- ii
29 | Match  these  Personalities  with  their  corresponding
accomplishments
A M.K.Gandhi i.Led Indian national
movement against the British
B Martin Luther King Jr. it Fought for civil rights and
equality for African Americans
in in the United States. C)
C Elizabeth Cady Stanton iii Played a key role in ending
apartheid policy in South
Africa
D Nelson Mandela iv Pioneered the women’s
suffrage movement in the
United States.
c) A-i,B- d) A-iv, ¢) A-1, B-ii, C- | d) A-i, B-iii, C-
i B-i iv&D- iii i1 &D-iv ¢) A- 1, B-ii, C-
’ ’ iv &D- iii
C-ii&D-iv | C-iii & D-ii
30 | The principles of Ashoka’s Dhamma were taken from d)
a) Brahmanism | b) Buddhism ¢) Jainism d? The moral d) The moral
virtues of all .
Indian Vlmes O.f ?111
. Indian religions
religions — of of that period
that period P
31 | Identify the correct statements which are related to Mughal Empire:
A Baburnama was written by Abdul Hamid
B Baburnama was written bz Babur ¢) B & D only
C Akbarnama was written by Akbar
D Akbarnama was written by Abul Fazal
a A&C c)B& Donly | d)A& D only
only b) B & C only c) B& D only
32 | The biography of King Harsha “Harshacharita” was composed by C)
a) Harsha ‘ b)Sudrak ‘ c)Banabhatta ‘ d)Brahmihira c¢) Banabhatta
33 | Economics of Education covers the generation, allocation and %)

utilization of resources for education through:

a) creation of | b) creation of | ¢) creation of
human capital | human human body
resources

d) creation of
human
resources body

a) creation of
human capital




34

Which one of the following is not a principle of Economic of

Education? d)
c) o
a)Autonomy b) Capability | Responsibility | d) Capitalism d) Capitalism
35 | Given below are two statements: one is labeled as Assertion A and
the other is labeled as Reason R.
Assertion (A) : Government invest in education to foster economic
growth and social development.
Reason ®: Building human capital is essential for the progress of a
nation.
In the light of above statements, choose the appropriate answer from 2)
the option given below :
1. Both A and R are True and R is the correct explanation of A.
2. Both A and R are true, but R is not correct explanation of A
3. Aistrue; R is false
4. Ais false, but R is true.
a) Option c) option - 2 d) option - 4
-1 b) option - 3 a) (Option-1)
36 | The ‘relevance’ of man power planning in education was focused
. c)
first in:
a) Sargent | b)Macaulay’s | c)Woods d) Non of the c)Woods
Report Minute dispatch above dispatch
37 | Match “ List-1 ” with Match “List-1I1"
A. Basic Education to i. Climate of
improve literacy and creativity
numeracy has an
important implication
for a basic of human
capital.
B. Direct training for skills | ii Infrastructure
related to jobs, electrician,
plumbing , nursing. C)

C. An education which | 111 Education

enables children to
think outside the box
can increase human

capital

D. Infrastructure of an | iv Vocational Training
economy will influence

human capital.




a) A-ii,B- | b)A-iv, B-iii, ¢) A-iii, B-iv, | d) A-i, B-iv, C-
v C-i, D-ii C-i,D-ii ii, D- iii
’ ¢) A-iii, B-1v,
b) C-i, D- C-i,D-ii
iii
38 | Economics of education is the study of economic issues relating to d)
education, including :
a) demand for | b) the | ¢) comparative | d) All of the
education financing and | efficiency of | above
provision  of | various d) All of the
education educational above
programs and
policies

39 | ‘Human Development Index’ (HDI) is a statistic developed and
compiled by the United Nations since 1990 to measure various C)
countries’ levels of :

a) social | b)economic c) Both (a) & | d)aesthetic c) Both (a) &
development development (b) development (b)

40 | “Capitalism” refers to? C)

a) The use of | b) Government | c) Private | d) Private c) Private
market ownership of | ownership of | ownership of | ownership of
capital capital goods | homes and cars | capital goods

41 | The goal of a pure market economy is to meet the desire of: a)

a) Consumers | b) Companies | c¢) Workers d)The
a) Consumers
government)

42 | The concept of ‘Human Development Index’ was created by: b)
a)Russian b)  Pakistani | c)American d) None of the b) Pakistani
economics economist economics above economist

43 | The reason for the decline in the ‘child sex ratio’ in India is: b)

a) Low fertility | b) Female | c) Incentives | d) None of the

rate. foeticide for a boy child | above b) Female
from the foeticide
government

44 | The factor/s that are taken into consideration while revising the | c)
poverty line periodically is/are:

a) By | b) Survey | ¢) Both a and | d) None of the
conducting a | carried out by | b above
survey every | National c) Bothaandb
five years Sample Survey
Organisation

45 | Limestone is one of the most common sedimentary rocks formed by: a)
a)Chemical b)Organic c)Clastic d) All of these a)Chemical
precipitation material sediments precipitation

46 | The headquarters of World Meteorological Organisation (WMO) is
located at: a)

a) Geneva b) Rome ¢) The Hague | d) Brussels a) Geneva

47 | The thermal equator is found at: d)

a) Tropic of b) The equator c¢) South of the | d) North of the | d) North of the
Cancer Equator equator equator




48 | The spread of desert conditions is called ‘Desertification’. It is the c)
result of :
a) b) c) d) None of the c)
Deforestation, | Deforestation | Deforestation, | above Deforestation,
overgrazing and overgrazing, overgrazing,
and poor | overgrazing poor poor
agricultural only agricultural agricultural
practices practices and practices and
reduced reduced
rainfall rainfall
associated with associated with
climate change climate change
49 | Match mountain ranges with their states:
List-I List-II
A Lipulekh i Sikkim
B Nathu La 11 Uttarakhand ©)
C Shipki La iii Himachal Pradesh
D Zoji La iv Jammu and Kashmir
a) A-i, B- b) A-iv, ¢) A-ii, B-i, C- | d) A-i, B-iii, C-
i B.i iii &D- iv ii &D-iv ¢) A- ii, B-i, C-
’ ’ iii &D-iv
C-iii & D-iv | C-iii & D-ii
50 | ‘Topophilia’ was coined by ¢)
a) P. Jackson | b) E. Soja c¢)Y.F.Tuan |d)T.Creswell | ¢)Y.F. Tuan
51 | The clouds that are found at high altitudes are: c)
a) Strato- b)  Cumulo- c)Cirro- d)Alto- ¢)Cirro-
cumulus ; cumulus cumulus cumulus
nimbus
52 | The lithosphere is the outer zone of the earth that includes: c)
a) The crust b) The crust|c) The crust|d)The mantle ¢) The crust
and the mantle | and the cooler, and the cooler,
upper part of upper part of
the mantle the mantle
53 | Type Questions here for matching pairs:
A Tungabhadra Dam 1 Karnataka Answer option
B Tawa Dam i1 Kerala (a,b,c or d)
C Tehri Dam 111 Uttarakhand
D Mullaperiyar Dam ivMadhy Pradesh
a) A-i, B- b) A-iv, ¢) A-ii, B-i, C- | d) A-i, B-iii, C- a) A-i, B-
. . 11 &D- iv i1 &D-iv .
1v, B-1, 1v,
C-iii & D-ii | C-iii & D-ii C- iii & D-ii
54 | Jet stream is: b)
a) Local wind | b) Upper air | c) Tributary of | d)Water b) Upper air
westerlies ariver current westerlies
55 The admixture of smoke and haze is known as: )




a) b) c) d) Frost c)
Smog Dense smog Smaze smoke Smaze
56 Landforms shaped by processes and agents of denudation
: b)
belong to a broad group of:
a) b) c) d)
Tectonic Sequential Initial Fluvial b)
landforms landforms landforms Landforms Sequential
landforms
57 | The primary aim of political theory is to study: a)
a)Political b) Ideology of | ¢) Political | d) Public Political
principles and | specific rights and | leaders principles and
ideas Political party | duties ideas
58 | In the political theory the term "Sovereignty" is describe as: d)
a) Rule of law c) Full control | d) Power to
b)Anarchy |of power by | make laws Power to make
rule political laws
leaders
59 | The basis of legitimate political authority, according to political o)
theorists is:
a) Strong b) Full | ¢) Rule by the | d) Consent of
:}i)eml\r/?iallﬁfae:y of pAc;l\anresh yto the | Dynastic the governed Rule by jthe
Dynastic
60 The political theory argues in favour of economics and
political system based on public ownership of the means of
production is: a)
a) Socialism b) Liberalism | c)Fascism d) Socialism
Conservatism
61 | The word "freedom" in a political context is best defines as :
b)
a) b) Ability to | c) Pursuit of | d) Freedom to Ability to
Ability to form | participate in | individual accumulate participate in
group to work | decision- freedom wealth decision-
against the | making without  any making
government processes that | limits processes that
affect one's life affect one's life
62 | ‘Fundamental Rights’ is mentioned in Indian Constitution : C)
a) Chapter-I \ b) Chapter-II \ c¢) Chapter-III ] d) Chapter-IV | c) Chapter-III
63 | ‘Right to freedom of speech’ is considered an example of: d)
a) Normal | b) Neutral | ¢) Positive | d)  Negative . .
Right Right Right Right Negative Right
64 | The term ‘citizenship’ means:
b)




a) The right to

b) The

c¢) The right to

d) The right to

The

take part in |legal status of | contest form any

. . . ... .2 |legal status of
national being a | election organization in i

i being a member
elections member of a the state
of a state
state
65 | The difference between nationalism and patriotism is:

a)
a)Patriotism c)Nationalism | d)Patriotism is Patriotism
focuses on is an extreme | based on focuses on
o b) Both . N
individual nationalism form of | economic individual
loyalty, while . patriotism that | interests, loyalty, while

. . and patriotism : .
nationalism excludes whereas nationalism
} have the same . . . .
emphasizes meanin others. nationalism is emphasizes
collective & centered  on collective
identity cultural values. identity
66 | The rule for debiting and crediting personal accounts is to: b
a) Debit what | b) Debit the | c) Debit all | d) Debit the .
. . . . . Debit the
comes in, | receiver, credit | expenses, increase, credit : .
. . i receiver, credit
credit  what | the giver credit all | the decrease .
. the giver
goes out mcome
67 | The North Atlantic Treaty Organization (NATO)is popularly 2)
known as:
a)The b)The Warsaw | c)The London | d)The  New The
Washington Treaty Treaty York Treaty Washington
Treaty Treaty
68 | The Warsaw Pact of 1955 was led by: 2)
a)The Soviet | b)Britain c¢) Germany d)Japan The Soviet
Union Union
69 | The idea of ‘positive liberty’ is defined as: a)
a) B The | b) No | ¢) Max1mum d) The‘ Liberty The capability
capability of | government equality and | of using the e
S < ) S . of individuals
individuals to | interference in | distribution of | nation’s .
: DT to pursue their
pursue their | the individual | wealth among | resources by
. Q. e goals
goals business. the citizen. the individual. .
. effectively.
effectively.
70 | Direct restriction on freedom by the state is depicted in which of the
following?
c)
a). P'rote.ctlng b) Imposition c) Enforcing | d) Biometric Enforcing
minority rights . compulsory attendance compulsory
of excise duty - o 4
military taven to the | military service
service during | government during
emergencies employees emergencies
71 | Which of the following is not a source of long-term finance? c
a)Equity b)Debentures | c)Bank Over | d)Retained
shares Draft Earning Bank Over
Draft
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72 | ‘Working Capital’ is calculated as : a
a)Current b)Total Assets- | c)Fixed d) Total | Current Assets-
Assets-Current | Total Assets-Current | Assets+Total Current
Liabilities Liabilities Liabilities Liabilities Liabilities

73 | Which of the following is not a method of financial forecasting? Cc
a) a) Trend |b)Regression |c) Break-even | d) Cash flow Break-even
analysis analysis analysis analysis analysis

74 | The Partnership Act of 1932 is applicable to : b
a) Limited | b) General | ¢) Cooperative | d)Joint Venture
Liability Partnership Partnership General
Partnership Partnership

75 | The formula to calculate the sacrifice by a partner in a partnership b
is:
a)New Share | b)Old Share of | c)Total Profit / | d) New Share 0Old Share of
of Profit - Old | Profit - New | Number of | of Profit + Old Profit - New
Share of Profit | Share of Profit | Partners Share of Profit

Share of Profit

76 | The lowest layer of the atmosphere is: b)

a) Stratosphere | b) Troposphere | ¢) lonosphere | d)
b) Troposphere
Ozonosphere

77 | The emission of which gas creates Global warming? c)

a) Nitrogen b) Carbon | ¢) Carbon | d) ¢) Carbon
Monoxide dioxide Hydrocarbon dioxide

78 | The formula to calculate Normal Profit is: b
a) Total | b) (Firm's | c¢)Total d) (Firm's
Revenue - | Capital x | Revenue /| Capital + | (Firm's Capital
Total Cost Normal Rate | Total Cost Normal Rate | x Normal Rate

of Return) / of Return) x | of Return)/ 100
100 100

79 | In which situation would a company require shareholders to pay the
remaining amount due on their shares? a
a) Calls in|b) c) Issue of|d) Issue of
Arrears Oversubscripti | Shares at | Shares at | Calls in Arrears

on Premium Discount

80 | What defines an equity share according to Section 43 of the
Companies Act 2013? b
a) A share that | b)A share that | c) A share that | d) ) A share

. ) - A share that
guarantees  a | does not enjoy | grants voting | that is issued to .
fixed dividend | any rights only preferred does not enj oy
. any preferential
payment preferential shareholders ot i
right in et n
= dividend or
dividend or !

. capital
capital repayment
repayment

81 | ‘Income Tax’ is a: b
a)Levied by | b)A Direct Tax | ¢c)A  Indirect | d)None of the
the state Tax above A Direct Tax
Government
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82 | What does TQM stand for? d
a) Total | b). Total C) Total | d) Total
Quality Quality Quantity Quality Total Quality
Measurement | Monitoring Management Management Management
83 | if a consumer's total utility from consuming 5 units of a good is 50
units, what is the Average utility? d
a)50 b)15 )5 d)10 10
84 | Who is responsible for preparing the bank reconciliation statement? d
a)State b) Central | c)Bank d) Account Account
government Government holders in a holders in a
bank bank
85 | The four basic elements of the mix marketing are: Cc
a)  Product, | b) Product, | ¢) Product, | d) Product,
place, price, place, | price, promotion, Product, price,
promotion, profit promotion, physical promotion,
profit physical distribution, physical
distribution people distribution
English
86 ‘History of Indian Writing in English’ is written by: d
a) John Bayley | b) Iyengar | ¢c)  Naipaul, | d) Naik, M.K. | Naik, M.K.
Srinivas, K.R. | V.S.
87 Anton Checkhov’s ‘The Darling’ was first published in the year: a
a) 1899 b) 1879 c) 1889 d)1929 1899
88 Which of the following is false statement?
A Robert Browning’s ‘My Last Duchess’ 1s a great dramatic
monologue.
B John Milton’s ‘How Soon Hath Time’ talks about transitoriness a
of time.
C Alexander Pope’s ‘Ode on Solitude’ is an appreciation about the
simple rustee life.
D John Donne’s ‘Lover’s Infiniteness’ is connected to idealism,
existentialism and realism.
a) D only b) Both C &D ¢) C only d) BothA & D D only
89 Which of the following statement is not true?
A Lord Alfred Tennyson’s ‘Break, Break, Break’ was first
published in 1852. .

B ‘Arms and the Man’ is an anti-romantic comedy on the themes
of war and love.
C ‘The Merchant of Venice’ is adaption of an old tale called ‘The

b

Jew’.
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D ‘Lay Your Sleeping Head My Love’ is the best-known lyric of
W.H. Auden.

a) A only | b)Conly |c)BothA&B|d)BothC&D| Aonly
90 Match the following:
A Animal Form 1 Charles Dickens
B Walking Tours ii George Orwell ¢
C A Tale of Two Cities iii R.L. Stevenson
D Mr. Know-All iv W.S. Maugham
a) A-ii, B-iv, C- | b) A-ii, B-iii, | ¢) A-ii, B-iii, | d) A-i, B-ii, C- | A-ii, B-iii,
iii, D-i C-iv, D-1 C-i, D-iv iii, D-iv C-i, D-iv
91 ‘[ think continually of those who were truly great’ was associated
with the thoughts of’ ¢
a) John Milton | b) Alexander | c) Stephen d) Robert Stephen
Pope Spender Browning Spender
92 Which of the following statement is false?
A Wordsworth has defined poetry as the spontaneous over-flow of
powerful feelings.
B According to Hudson, poetry is the criticism of life. a
C Coleridge says, “Poetry refers to the best words in their best
order”
D Allen Poe defines poetry as the rhythmical creation of thought.
a) B only ‘ b) D only ‘ c) BothA & B ‘ d) BothA & D B only
93 ‘She had a heart- how shall I say? - Too soon made glad,
Too easily impressed’ a
These lines are taken from:
a) My Last|b) How Soon|c) Ode to|d) Ode on My Last
Duchess Hath Time Autumn Solitude Duchess
94 ‘The names of those who in their lines fought for life
Who were at their hearts the fire’s centre’ c
These lines are taken from:
a) Alexander | b) John | ¢) Stephen | d) John Keats’ Stephen
Pope’s Poem Milton’s Spender’s Poem Spender’s
Sonnet Poem Poem
95 ‘Sonnet’ is derived from: c
a) Latin word b) Greek word | ¢) Italian word | d) French .
Italian word
word
96 ‘Basic Patterns of English’ was methodically prepared by: b
a) Fries b) Hornby c) Crystal d) Gokak Hornby
97 According to Finocchiaro, language is a system of: d
a) b) Linguistic | ¢) Culture d) Arbitrary | Arbitrary
Communication | Symbols vocal symbols vocal
symbols
98 /1/ is a sound of: b
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a) Post Alveolar | b) Alveolar c) Palato | d) Glottal Alveolar
Alveolar

99 Generally, ‘Falling Intonation’ is used in: a

a) Ordinary | b) Greetings | ¢) Incomplete | d) Question | Ordinary

statement utterances tags statement
100 Which of the following statement is false?

A Compound words take stress on the second constituent.

B Word stress changes depending on the function of the word. d

C Derivational suffixes do not affect the stress pattern of the root

word.

D Stress lends rhythm to the language.

a) BothB& C | b) BothA&D | c) Conly d) A only A only

Hindi

86 YITHTIR BT DI 7T (b B ? (d)

a) ARIAS b) IGAHT ¢) ST d)daa P
87 PaR fead GBI A ? @

a) Ripgz @it | b) sraTa=g o) fawrTa d) XTSI I -

e Rirer arh

88 e daTau g s a8 ? (a)

a) AT | b) 3mT | o ma | d) Ty AT
89 P BTUMIGRIR $Td & Hid g 2 (a)

a) BNAIRM |b)fyeafaga | o fogie™ | o)aRISEws ga=RT™

ERcll CERLll
90 . I el BT ITERVT T T 62 O

T b d

a) )& oaTg )3iE T
91 &t T Pt forfy = 82 (©

a)je | pR=h | o3It | )Rt FLRIRE]
92 [ g+l 9Tl Xeg gie | @

B Rikelall | byg=arit | ot | o)T=am=it Tt
93 & & 9dam ¥ FR® & fra Yg gid 2l @

a)7 | b)8 | 99 | d)10 7
94 IERd a9 ¥ fhaq @S | g1/ ©

a)8 | b)9 | o7 | d)10 7
95 TR AR AU gl ©

a)gaeq | b)Tat | ofe=mt | d)@Is g famt
9% g oAl B $gd 21,3, (b)

a)a=t | b)Y | o3= | d)@Is g =
97 gfafe 2 ® w1 qu 2 @

a) Ty | byFHYRT | ofe | d)3rardiiyTE gty
98 wRasfedsuamdficsrm s e | )

2fE WM | b)Tepd gRAT [ oo [ dygfemT TP i
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99

g 9 R o W 81 9 81 & Y U 2reg &1 g1 S |

(a)

2SI b) ST o3ad d)¥eltett S
100 YT FTEA @ ? @
adfeaararg | bfo ¥ 999 | oA ®W S | d) sql a1 | el AT aTRA
Cake e HTY G HEKIKICE ﬁaﬁﬁrﬁﬁ P a9
e RMeq
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